N of associated (recoToSim) looper tracks vs normalized x*

N of associated (recoToSim) tracks vs normalized X?

[N of reco track vs normalized x2 ]

9] 1%} 123 0
x x x X
Q Q o (5]
g S g g
) s 2 E
2 s 8107
o
=]
o
o <} o )
© I © T
@ @ 24 @
0992 4 6 8 10 12 14 16 18 20 0924 6 8 10 12 14 16 18 20 0992 4 6 8 10 12 14 16 18 20 © 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
T BONM—FFoTmTat—tgwpt
[(Norremotackvs | ——— BRV-H-hewransh-|owBl-BEsmvacand
2] 1%} 2]
S S 3
it S g
2 10° )
=3
= & 10
10?
10
1
o o
5 g ]
e T o9
0.8]
0.7




	Contents
	Page 1


